HW MATH227/5

1. Verify that det(hA) = kdet(A) for

2. Verify that det(AB) = det(A)det(B) for
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3. For which value(s) of k£ does A fail to be invertible?
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4. Express the following linear systems in the form (M — A)z = 0.

(a) T+ 22 = Aug
21‘1 + Xy = )\l‘g

(b) 2¢1 + 3zy = Az
day + 329 = Aao

() 31 +19 = Ay

—=bxy — 3y = Axy
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5. Let
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(a) Find all the minors of A (b) Find all the cofactors.

6. Evaluate det(A4) by cofactor expansion along a row or a column of your choice.
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7. Solve by cramer’s rule
dr  +dy =

11z 4y +2=z
r by +2z =

fl
RN

: Al A . : .
8. It A= 0 L ,112 is an upper triangular block matrix, where Ay and Ago are square
A

matrices, then det(A) = det(Ay)det(Ay). Use this result to evaluate det(A) for
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